questionfft-mathcad11,rev2.mcd
pwrZ(z) = |"power in frew spectrum" pwiz(z) = |"power in time sequence”
Try these values for z1: 5.00 300 i i Z « i(z) vz« I(z)
53285 502,885 freq in terms of bin # st(Z) ast(v2)
: : VZ,
+ round(zl - 10) 2 2 1 2
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freqz(z) = po-&-z {| 0|) Lzl {|Z1*|} rows(vz) 20 {|vzk|)
21 =01 f _offsetl = round(zl — 10) a a
f offset? = round(zl + 51 — 33) keeps both spectral sections within graph plot.
bin center Number of cycles over full sampling interval ( NO-Ak repeat interval).
freqz(z1) = 0.09 AZ(1) = 003 pwrz(z1) = 0.03 spectral "leakage occurs when this is not an integer.
=l pwrZ{zl) = 0. =L
=101 Lodeal 009 for z1 component
n
1 51=122816
10-ak{at + 1) =2142 for z1 + &1 component
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Number of samples per cycle (want >2 to prevent aliasing)
02 No-= NO-x
T 10-Ak-z0 samples per cycle 10-Ak-z1 = 4364084 for z1 component
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z1 spectrum (expanded)
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